Sig Figs — Rounding, Adding and Subtracting
*Use pgs.50-53 to answer the following questions

1. Do all scientific instruments provide the same quality of data as one another? Explain
2. What is a significant figure (sig fig)?

3. If you have a LOT of significant figures in your data, are you always an accurate scientist? Explain

4. What are the 5 Rules to recognizing sig figs?

1.
2
3.
4
5.

5.1dentify the number of significant figures in each of the numbers below
010002 = 4060 = 19.100 X 10° =
6701 = 73.446 = 0.728 =
0.0605 = -63.200 X 108 =

6. Why is rounding important in dealing with sig figs?

7. What are the rounding rules when dealing with sig figs?

1.
2.
3.
4.

8. Round the following numbers to 2 sig figs

37 = 42,60 X10°%= 695 =
7840 = 0.007 = -52.330 X 10°=

9. What are the rounding rules that apply to adding and subtracting sig figs?
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